interaction Chat[ ’“_[‘ﬁ Chaty

«HasThread» =] «HasThread» =]
Alice : TwinMock Bob : TwinMock

[ [
[ 1: CbQuestion(sQuestion="Alice's question") ’_L

< 2: CbAnsw er(sAnsw er="Bob's answ er")
< 3: CbQuestion(sQuestion="Bob's question™)
4: CbAnsw er(sAnsw er="Alice's answ er") >
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component ActorComponent [ @ ActorComponentﬂ

L rp_In : TwinClient Actor : ActorClass

| rp_Oracle : OracleClient
In : TwinClient [] P r

rp_Oracle : OracleClient

1 pp_Out : TwinServer

Out : TwinServer
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(state machine OracleClientPsm| OracIeCIientPsmy

[ Idle ]

«NativeTrigger» CbReply( sReply )
[ Ask( sAsk);

[ Asking J
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(state machine TwinMockFsm[ =) Tw inMocszmy
dle L rp_In2->CbAnsw er(sAnsw er) ( Asking
L )
«NativeTrigger»
/ pp_Out2->CbQuestion("My question?");
Answered } rp_In2->CbQuestion(sQuestion) [ Thinking
«NativeTrigger»
/ pp_Out2->CbAnsw er("My answ er!");

N J
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package OracleProtocol] |5, OracIeCIassesy

OracleClient

-sAsk : String = "Question"

4 AN
/
«use»
2 AN
s AN
L ™~
IOracle O ICbOracle O

+Ask( sAsk : String ) : void +CbReply( sReply : String ) : void

1Z8 7
AN «use» 7
N 7/

/
N
il
L

OracleServer
-MyAsk : String

MagicDraw UML, 1-1 C:\WORKSPACES\CS\TWINS\Twins.xml OracleClasses Aug 18, 2012 10:07:0¢



(state machine OracleServerPsm| OracIeServerPsmy

( Idle ]

Ask( sAsk) / «NativeTrigger»
MyAsk = sAsk; / CbReply( "This is answ er of " + MyAsk + ™ I');

( Asked ]
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class Twins [ &) Tw insy

«HasThread» =] «HasThread» ==
Jack : TwinComponent [ In : TwinClient In : TwinClient :| Kate : TwinComponent

Out : TwinServer Qut : TwinServer

MagicDraw UML, 1-1 C:\WORKSPACES\CS\TWINS\Twins.xml Twins Aug 18, 2012 10:07:09 PM



component TwinMock[ i) Tw inMocky

- rp_In2 : TwinClient Twin : TwinMockClass
In2 : TwinClient

— pp_Out2 : TwinServer
Out2 : TwinServer
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(‘state machine OracleFsm[ OracIermy h

Idle

Pythia->Ask( sAsk) / / Pythia->CbReply( "This is answ er of " + MyAsk + ™ I');
MyAsk = sAsk;

Asked
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component TwinComponent 7 TwinCo onent) o .
P P [ @ mp ] In : TwinClient Qut : TwinServer

In: TwinClient QOut : TwinServer

L
ActorComp : ActorComponent =]
[

rp_Oracle : OracleClient

pp_Oracle : OracleServer

L
OracleComp : OracleComponent g]

MagicDraw UML, 1-1 C:A\WORKSPACES\CS\TWINS\Twins.xml TwinComponent Aug 18, 2012 10:07:(



(state machine ActorFsm[ [= ActorFsmy

?

>L{ Idle )\< [ Asking )
/ NumQuestion=0; rp_In->CbAnsw er(sAnsw er) /
string s = "Received answ er: "+sAnsw er;
Tsm.Log(s);
/ NumQuestion++;
[else] / [NumQuestion<=MaxNumQuestion] /
TsmSupervisor.Abandon(); string s ="My question "'+NumQuestion+" ?";

pp_Out->CbQuestion(s);

H Answered | - - N{ Thinking J
/' rp_In->CbQuestion(sQuestion) /

/[ rp_Oracle->Ask(sQuestion);

rp_Oracle->ChReply(sReply) /
pp_Out->CbAnsw er(sReply);
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package TwinProtocol[ [ %) TwinClasses y

TwinClient

=
LI
\

\

N

ICbTwin O

+CbQuestion( sQuestion : String ) : void
+CbAnsw er( sAnsw er : String ) : void

A

«use» /
/

.
L

TwinServer

-sQuestion : String = "The Question"
-sAnsw er : String = "The Answ er"
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1
L

pp_Oracle : OracleServer

component OracleComponent [ |ET OracleOomponenty

Pythia : OracleServer
1
L

Delphi : OracleClass
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(state machine TwinClientPsm[ TWinCIientPsmﬂ h

Idle
CbQuestion(sQuestion) <;| ’;> CbAnsw er(sAnsw er)
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(state machine TwinServerPsml[ =) Tw inServerPsmﬂ h

«NativeTrigger» Idle «NativeTrigger»
/ CbQuestion(sQuestion); / CbAnsw er(sAnsw er);
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class TwinsTest[ [& Tw insTesty

«HasThread» =] «HasThread» ==
Alice : TwinMock In2 : Tw inClient In2 : Tw inClient Bob : TwinMock

out2 : TwinServer Out2 : TwinServer
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